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QUESTION 1

While analyzing performance of a VMAX3 array, the following details are observed? 

High host response time Low FE response time High host CPU utilization 

What should be investigated further? 

A. SAN connectivity 

B. Disk delays 

C. I/O queuing on the host 

D. I/O queuing on the frontend 

Correct Answer: C 

Reference: https://thesanguy.com/2012/09/25/san-performance-metrics/ 

 

QUESTION 2

What is a benefit of SRDF R22 devices in a VMAX3? 

A. Allows simultaneous replication of a source device to two different target devices 

B. Allows simulations replication of two source devices to the same target device 

C. Makes SRDF/Star more resilient 

D. Makes Cascaded SRDF more resilient 

Correct Answer: A 

 

QUESTION 3

An administrator implemented SYMACLs on a VMAX3 using hardware-based Access IDs. The administrator is not able
to run SYMCLI commands against the volumes belonging to a host. The volumes were originally provisioned using the
host in which the host in which the administrator experienced issues. 

What is a possible reason for this issue? 

A. SYMAPI options file was manually modified with the wrong host ID 

B. symacl –unique –passphrase was run using a different passphrase 

C. Host is not in the eMgmt Access Group 

D. Host network interface card was replaced 

Correct Answer: B 
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QUESTION 4

A company is using SRDF/AR Multi-Hop as a disaster recovery solution. Their primary application requires 27.3 TB on
their primary site. How much storage capacity is required on the third site? 

A. Only 27.3 TB 

B. 27.3 to 54.6 TB 

C. Only 54.6 TB 

D. Greater than 54.6 TB 

Correct Answer: C 

 

QUESTION 5

On a VMAX3 array, under which type of workload will Selective Cache Mirroring provide significant performance
optimization? 

A. Large block Write Miss I/Os 

B. Small block Write Hit I/Os 

C. Large block Read Miss I/Os 

D. Large block Read Hit I/Os 

Correct Answer: A 
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